
SECTION A-A

(2) 29.5 FT 1-1/4" NPS PVC RIGID
CONDUITS FOR CELLULAR USE

(1) CONDUIT SUPPORT ASSEMBLY
FORMED BY (2) 1-1/2" NPS X 6" LG PVC
CONDUIT PIECES, EACH ATTACHED TO (2)
PC WIRES WITH (2) 12 "LG. SS CABLE TIES
(CTU SSP12-HD).

(2) 24" LG., 1-1/4" NPS FLEXIBLE PVC
PIPE, JOINED TO RIGID CONDUIT PRIOR
TO POLE SHIPMENT

2-1/4" x 7" HH FRAME & COVER ATTACHED
WITH SS 1/4-20 SCREWS

(2) 1-1/4" NPS PVC CONDUIT COUPLINGS

(3) CONDUIT ATTACHED TO SUPPORT
ASSEMBLY AND PC WIRES BY ENCIRCLING
THE CONDUIT SUPPORT, (4) PC WIRES AND
THE CONDUIT WITH (2) 20" LG. SS CABLE
TIES. (CTU SSP20-HD)

1
-
1
/
4
"
 
E

L
E

C
.
 
C

O
N

D
U

I
T

3
/
4
"
 
E

L
E

C
.
 
C

O
N

D
U

I
T

(1) 27.5 FT 1-1/4" NPS PVC RIGID CONDUIT
FOR UTILITY USE

(1) 24" LG., 1-1/4" NPS FLEXIBLE PVC
PIPE, JOINED TO RIGID CONDUIT PRIOR
TO POLE SHIPMENT

(1) 1-1/4" NPS PVC CONDUIT COUPLING

POLE BASE O.D. = 12"

4.5" ± 14" I.D. RACEWAY

18"
(NOM.)

30"
(NOM.)

4" C/C

6"

SECTION B-B

(2) 1-1/4" RIGID 29.5 FT.
PVC CONDUIT CAST INTO
POLE WALL (MODT.B.D.)

(1) 1-1/4" RIGID 27.5 FT.
PVC CONDUIT CAST INTO
POLE WALL (MODT.B.D.)

FOUNDATION DESIGN (BY OTHERS):
4.5 FT SQUARE (TYP.) -- SEE PROJECT
PLANS FOR REQUIRED DEPTH, CONDUIT
SIZING AND ORIENTATIONS REQUIRED.
NOTE:
DEPENDING ON FIELD CONDITIONS,
ALTERNATE 2.5 FT SQUARE  & 2.5 FT
DIAMETER CAISSON (TYP.) WILL ALSO BE
CONSIDERED.  MINIMUM EMBEDMENT
SHALL NOT  BE LESS THAN 8 FEET.
SUBMIT STRUCTURAL
CALCULATION FOR REVIEW.

9" OCT. (ACROSS
FLATS) POLE
TOP WITH 4-1/2"
± 1/4 " I.D.
RACEWAY

3" (NOM.)

6" GROUT

APPROVALS
T&D MGR

CITY OF ANAHEIM
ELECTRICAL DIVISION

PUBLIC UTILITIES DEPARTMENT

OPS MGR

T&D CONSTRUCTION STANDARDS

SYS PLN
 MGR

SUB
MAINT

NEW SHEETNEW SHEET

FI
LE

NA
ME

:

REVISION KEYS: ADDED / REVISED TEXT

CONSTRUCTION STANDARD:

ADDED / REVISED MATERIAL

SHEET OF

REVISION NO. 
ISSUE DATE :

N/AN/A

SR ELEC
ENG.

CITY OF ANAHEIM
STREET LIGHT DESIGN #740

CELL SITE TOP

L1
46

 R
EV

 0

0
01-06-2020

1 3

L 148

SCOPE: THIS STANDARD SHOWS CITY OF ANAHEIM STREET LIGHT DESIGN #740 - FOR INSTALLATION OF      
CELL SITE ON TOP OF STREETLIGHT POLE

CU
RB

 F
AC

E

SQUARE ARM

FINISH GRADE

CLUSTER PLATE ASSEMBLY
INCLUDES ANCHOR BOLTS,
(3) CLUSTER PLATES, & (4)

ADDITIONAL HEX NUTS &
WASHERS PER BOLT.

(4) 1-1/4" DIA. X 48" ANCHOR
BOLTS EACH WITH (2) HEX NUTS
& (2) WASHERS; ASTM F1554
GRADE 55 GALVANIZED BOLTS
ON A  ON A 16" DIA. BOLT CIRCLE

(1) CLUSTER PLATE
(ALIGNMENT)

(2) CLUSTER PLATE
(BEARING)

FOUNDATION DETAILS

#6 B.C. GROUND WIRE
(LOOP UNDER WASHER)

5/8" X 8' GRD ROD
(INSTALL OUTSIDE
OF THE FOOTING)

POLE ORIENTATION

HANDHOLE, MODA
 (STAR INSERTS)

POLE TOP DETAILS

(4) 3/4-10UNC COUPLING
NUTS WITH 5" BOLTS @
90° APART ON A 7 1/4" DIA.
BOLT CIRCLE (MODB)

30" OR 69"
PER L103

(MODB)
(4) 3/4"-10UNC x 5" TOP MOUNT BOLTS WITH
COUPLING NUTS @ 90° ON 240mm
(7 1/4") BOLT CIRCLE FOR TOP MOUNT
ATTACHMENT WITH (4) 3/4"10-UNC SS HHMS & (4)
3/4" CUT WASHERS
(BY OTHERS)

(2) 1 1/4" RIGID 32 FT.
PVC CONDUIT CAST

INTO POLE WALL
(MOD T.B.D.)

C-C SECTION

0°

180°

270°90°

H-H SECTION

SIDE MOUNT
INSERTS FOR

BANNER ARMS
UTILITY (1) 1 14" &

CELLULAR (2) 1 14"
RIGID CONDUITS

2-1/2" (NOM.) WALL

CONDUIT
SUPPORT
ASSEMBLY

11 GA. SPIRAL
STEEL WIRE AT 3"
PITCH ASTM A-1064

(MODSX300) FOR LMA
(12) GA. 9mm PRESTRESSING
STEEL WIRE, ASTM A-421 +
(8) 9mm NTW WIRES

A

A

(4) 1-1/2" DIA. X 2-1/2" LG.
SLOTS EQUALLY SPACED
@ 90° APART ON A 15" TO
17" DIA. BOLT CIRCLE15" SQ. x 1-1/2"

GALV. STEEL PLATE
ASTM A-36

6-3/8" ± 1/2"
I.D. RACEWAY

BASE PLATE

2-1/4" X 7" HANDHOLE
WITH CAST ALUMINUM
FRAME & FLUSH
COVER @ 0°
COVER TO BE
ATTACHED PRIOR TO
SHIPMENT WITH
TAMPERPROOF (TMP)
DOOR SCREWS

18" DIA. x 60" HIGH MAXIMUM
ANTENNA SHROUD ASSEMBLY

(BY OTHERS)

(MODA):
(2) 1/2"-13UNC STAR
INSERTS & 2-1/4" X 7"
WIRE EXIT WITH CAST
ALUMINUM FRAME &
FLUSH COVER
DISCONNECT SWITCH @
0°

AMERON I.D. TAG @ 0°

(MODSX300)
(1) 8' GALV. STEEL 5" x
5" SQUARE LUMINAIRE
ARM @ 270°
(SEE BRACKET ARM
TO POLE
CONNECTION
DETAILS)

20'-0"
ANTENNA
POWER

SHUT-OFF
SWTICH

20'-6"
BANNER

MOUNTING
HEIGHT

(CENTERED)

MOUNTING
HEIGHT
ABOVE
GRADE
(27'-5")

18"

3"

(27")

B B

AutoCAD SHX Text
GRADE LINE



APPROVALS
T&D MGR

CITY OF ANAHEIM
ELECTRICAL DIVISION

PUBLIC UTILITIES DEPARTMENT

OPS MGR

T&D CONSTRUCTION STANDARDS

SYS PLN
 MGR

SUB
MAINT

NEW SHEETNEW SHEET

FI
LE

NA
ME

:

REVISION KEYS: ADDED / REVISED TEXT

CONSTRUCTION STANDARD:

ADDED / REVISED MATERIAL

SHEET OF

REVISION NO. 
ISSUE DATE :

N/AN/A

SR ELEC
ENG.

CITY OF ANAHEIM
STREET LIGHT DESIGN #740

CELL SITE TOP

L1
46

 R
EV

 0

0
01-06-2020

2 3

L 148

SQUARE BRACKET ARM TO
POLE CONNECTION

(2) 1/2"-13UNC x
1-1/2" LG
S.S. COUPLINGS
(SEE MODSX300)

GAVL. SQUARE STEEL PIPE ARM

(2) 1/2" -13UNC x 1-1/2" S.STL.
HEX BOLTS W/ LOCKWASHERS

9" ± 1/16"

4-1/2" ± 1/16"

Ø1-1/4" TAPERED TO Ø1-1/2"
WIRE EXIT

(MODSX300)
(1) 8' GALV. STEEL 5" x 5" SQUARE LUMINAIRE ARM @ 270°
(SEE BRACKET ARM TO POLE CONNECTION DETAILS)

8'-0" ±1"

4" ±1"

SQUARE ARM ARM DETAILS

LOAD LINELINE
LOAD

LOAD LINE

3" 3"

1 1/4" CONDUIT MIN. WITH
3-#14CU THHN-THWN FOR ST.
LTG.

PULL BOX
UTILITY FEED

36" MIN.

TAG PER NOTE 12

13" X 24" PULL BOX
PER CONST. STD. CU 1500-1A

PADMOUNT TRANSFORMER  (PMT)
OR SUBSURFACE TRANSFORMER (BURD)

120V, SERVICE
NOTE 12

240V, SERVICE
SEE NOTE 12 & NOTE 13

TO STREET LIGHT POLE

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
2'-2" TO

AutoCAD SHX Text
POLE TOP



NOTES:

1. POLE CONCRETE SHALL BE 6000 PSI COMPRESSION MINIMUM IN 28 DAYS, MANUFACTURED TO ASTM C 1089-88.

2. THE POLE SHALL BE BLACK AND WHITE MIX 37 AND ENTIRELY COATED WITH AMERISHIELD ANTI-GRAFFITTI
SEALANT.

3. BASE PLATE REFER TO SHEET 1 FOR DETAILS.

4. FOR COMPLETE LUMINAIRE UNIT WITH SET SCREWS TO ATTACH TO THE ARM , ORDER STOCK CODES LISTED PER
TABLE.

5. WIRING FOR LUMINAIRE SHALL BE #14 COPPER CABLES WITH XHHW-2 INSULATION (BLACK-PHASE, WHITE-NEUTRAL,
GREEN-GROUND) IN 1 1/4" CONDUIT FROM POLE BASE TO LUMINAIRE. SEE SHEET 2 FOR CONDUIT SIZE
REQUIREMENT FROM SERVICE PULL BOX.

6. THE POLE DEPICTED IS DESIGNED TO WITHSTAND LOADS IMPARTED BY A CYLINDRICAL 18" DIA. X 60 " TALL
ANTENNA SHROUD. THE TOP MOUNT LMA AND THE LUMINAIRE PER 2016 CALIFORNIA BUILDING CODE ASCE 7-10 &
2015 AASHTO IN A 115 MPH WIND ZONE (3-SECOND GUSTS) .  POLE CHECKED AGAINST LOCATION SPECIFIC SEISMIC
CRITERIA.  PLEASE ADVISE MFR IF INTENDED LOADING EXCEEDS THESE VALUES.

7. ANTENNA POWER SHUT OFF SWITCH FURNISHED AND INSTALLED BY WIRELESS COMPANY. DISCONNECT
MOUNTING PROVISION BY OTHERS.

8. POLE CONDUITS SHALL BE SEPARATE AND NOT SHARED WITH ELECTRIC UTILITY. (1) 1 1/4" CONDUIT FOR UTILITY
WITH CABLES PER NOTE 6. (1) 1 1/4" CONDUIT FOR ANTENNA POWER TO BE PROVIDED AND INSTALLED BY OTHERS.
(1) 1 1/4"  FOR ANTENNA CABLE.

9. STRUCTURAL STAMPED DRAWINGS TO BE SUBMITTED BY WIRELESS COMPANY TO C.O.A. STANDARDS SUPPORTING
115 MPH LOADING CRITERIA FOR POLE, BACKPLATE AND FOOTING WITH ALL ATTACHMENTS.

10. SEE CO 192 FOR BANNER ATTACHMENT.

11. COA TO PROVIDE 120V, 240V POSITION IN HAND HOLE WIRELESS COMPANY TO INSTALL MULTI/AUTO REG. EQUIP.
UTILITY TO PROVIDE 20 AMP. MAX IN-LINE FUSE.

12. FUSING SHALL BE PER COA L104.

13. FOOTING (FOUNDATION) CONCRETE MIX SHALL BE MINIMUM OF 560-C-3250.

14. DESIGNER SHALL USE APPROPRIATE PHOTOMETRIC SOFTWARE TO CONFIRM IES GUIDELINES ARE FOLLOWED
PRIOR TO STREETLIGHT INSTALLATION.

APPROVALS
T&D MGR

CITY OF ANAHEIM
ELECTRICAL DIVISION

PUBLIC UTILITIES DEPARTMENT

OPS MGR

T&D CONSTRUCTION STANDARDS

SYS PLN
 MGR

SUB
MAINT

NEW SHEETNEW SHEET

FI
LE

NA
ME

:

REVISION KEYS: ADDED / REVISED TEXT

CONSTRUCTION STANDARD:

ADDED / REVISED MATERIAL

SHEET OF

REVISION NO. 
ISSUE DATE :

N/AN/A

SR ELEC
ENG.

CITY OF ANAHEIM
STREET LIGHT DESIGN #740

CELL SITE TOP

L1
46

 R
EV

 0

0
01-06-2020

3 3

L 148

ITEM QTY DESCRIPTION  IDENTIFICATION
OR CAT. NO.

ANAHEIM
STOCK CODE COMPATIBLE UNITS

1
1

POLE AND ANCHOR BOLTS (FOR MOUNTING
SINGLE SQUARE RECTLINEAR ARM)

AMERON DWG
NO. 1910-056,

REV A
MA8SANTDEV

1 SQUARE RECTLINEAR ARM

2 1 RECTLINEAR LUMINAIRE 100
WATTS HPS EQUAL

LED
SEE STOCK CODE 474046 L100LEDRECT

3 1 RECTLINEAR LUMINAIRE 250
WATTS HPS EQUAL SEE STOCK CODE 474051 L200LEDRECT


	Sheets and Views
	L 148 REV0-SHT 1
	L 148 REV0-SHT 2
	L 148 REV0-SHT 3


